2A: JIEIS
HE: JIE1E ALIH(L2 3T /ABHAT)
&2l JtE1s 2l (HR:®2)
S A .S (FH) - NBAY - BHAS HEE Hn=2
- o= T ° T EEREES 04”:"% ree
HEIS 498,747 473,615 25,132
IIE1S A (LSS /LB ) 385,272 364,210 21,062
213 22l 142,872 121,810 21,062
A2l 14,488 10,000 4,488
201 B2 HH| 9,488 10,000 AB12
01 At 2teltl 1,200 1,200 0
OUEM ARII| ADE 7Y Y ARRLH
]l 20,000& = 58 = 12& 1,200
02 2==2gHl 8,288 8,800 A512
OAl&EEHI= Xl 2,000
—2A4 2R bl 1,500,000& * 14 1,500
~HEEYE MBE SN
500,000& = 1CH 500
OXteMetHl (A EEIE) 2,000,000& = 1CH 2,000
OFAF & 3loja &l 4,288
—esguy
1,2902 * 8AIZE * fkal = 120 1,239
—0IEA 8 U2
1,2702 = BAIZE = 204 = 120 2,439
—3|o4a A" ARFLZ
1,270& » BAIZ2+ = 20H = 30 610
401 Al HIZL 20HYI 5,000 0 5,000
01 Al &l 5,000 0 5,000
OB AMECIE & A2 ZAHI 5,000
—3o4a UEBE st OISEEXSA
5,000,000& * 14] 5,000
SHEZ e 4,747 4,530 217
101 21241l 2,199 2,100 99
402t 22 RS2 2,199 2,100 99
OdtHgE = 36,640 * 1H * 60 2,199
206 M = 4| 2,548 2,430 118
01 M=l 2,548 2,430 118
OStH LS == 2,548
— YR 1,860& * 200 £ 372
&R 1,690& * 400 £ 676
—SHAEH 2,500& * 600 ¢ 1,500
2ots KAl &2 7,000 7,000 0
201 B2 HH| 7,000 7,000 0
02 2224l 7,000 7,000 0
O EetsS=eltl 50,000 * 350 * 40/100 7,000
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A IHEIS
Hu: OIS1S ASPH(LBBBYT/LeHE)

©el: Jt21S 22 (el &2
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
RETAG A 16,357 10,890 5,467
101 2121t 10,407 9,940 467
VEENEEP TR 10,407 9,940 467
OS28 2 MY 24l o9y
6.6408 * 122 « 32 x 43 5,277
ORETASAY oY
36,6402 * 10 * 22 53] 3,664
OAIDIXI, SXINEX ZDSTH L 23 Iy|
ol 36,6402 * 2% * 202 1,466
201 YBr2 | 150 150 0
01 AtR 22l 150 150 0
OOl %2l
100,009 * 3CH = 13 * 50/100 150
206 T2t 5,800 800 5,000
01 HEHI 5,800 800 5,000
OXzsiot@e U NEEX SEY el 800
—gE0l YR 7Y 10,0002 * 105 100
—EHl 2 B2 P 10,0002 * 10E 23| 200
—XeE R Y 10,0008 * 5% * 23] 100
—x27y 20,0008 * 202 400
OSHS SMU= THEs BUS ATHAY
10,0000 * 5002 5,000
ZEOIXIR| 1825 100,280 89,390 10,890
301 YEE A3 100,280 89,390 10,890
055 2 BRBSEYI 95,960 85,070 10,890
Oszy+g 88,560
=4y 200,000 * 27 * 122 64,800
—&0i2 200,000%0 * 27 * 200% 10,800
—slol & ALY
20,0002 * 28] * 27% * 122 12,960
Optz4g 50,0002 * 1482 7,400
10 BAAIHI 243 4,320 4,320 0
OXNg&BoAs S 5l0 HAT B4
5,008 * 723 * 128 4,320
ARD FOIBAAY 242,400 242,400 0
ARDFOIB ALY 242,400 242,400 0
401 Al&HI L S THY| 242,400 242,400 0
01 Al& 8] 240,000 240,000 0
OAFRS FYUBOAAY 240,000,008 * 1A 240,000
03 Al & = CHH| 2,400 2,400 0
OARE FOIBAAY AlLLHY]
240,000,002 * 1/100 2,400
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M IEIS
M HY2IZHI(OIE18)(IIEH/IIE)
el IE2 3] (etel: =3
SN H - SR(EH) - NPAMY - BES 0] &F o e HRE2
HH2FZHI(OIE1S)(IIEH/DIE 113,475 109,405 4,070
I 2 34,897 32,215 2,682
eI 2| 34,897 32,215 2,682
101 21 2d| 34,897 32,215 2,682
01 2= 34,897 32,215 2,682
OAlzt 22+
8,078& = 10 » 36AI2t » 123 34,897
Jl=2&Hl 78,578 77,190 1,388
Jl=&H| 78,578 77,190 1,388
201 gEt=24Ed| 33,028 30,890 2,138
01 AtR2tel 23,460 22,270 1,190
OSASXI (M) 7&
13,000& * 102fA + 128 1,560
OEZ20HAHI 5,000& = 34! = 10 » 128 1,800
Oggteg 100,000& * 12 1,200
OL72 EA7HI 50,000& = 128 600
Og&=H 13,300
—=Z 30,000& * 19H * 250 7,500
-2 50,000& » 18 = 116 5,800
OLAa2 =&Hl 4,400
—= Al =2l 500,000& = 1CH 500
—ZelH =2l 100,000& = 2CH * 50/100 100
—=SA| &4 200,000& = 53| * 104 1,000
—ZEEII(EY) EY
200,000& = 53| = 2CH 2,000
—PC==2l 100,000& = 10CH * 20/100 200
—JIEt EHdl==cl 50,000& * 12& 600
OJIEH AtR 22|l 5,000& = 10¥ = 123 600
02 32244 9,568 8,620 948
O3&282= % HAl 9,568
—ENLS RERS 300,000& = 122 3,600
—&dAMN MRS 350,000& = 122 4,200
—&ot=E 23 40,000& » 128 480
— QA RHYS AIER 9,000& 128 108
— &I = 100,000& = 23| 200
—JtE1s oiblz2sl &JIes
35,000& ~ 128 420
—SIMNHRE= 50,000& =+ 23] 100
—dstx Ea 100,000& = 13 100
—CCTV MIIR=3 5,000& = 604 ~ 128 360
202 O4H| 33,500 33,500 0
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